Programming Language Concepts
CSCI-344 Lecture 03
Term 20235
Operational Semantics of Impcore
Assume
e —&dom ¢
and
e ¢o(-) = PRIM(-)
x ¢ dom {} x € dom {x+— 1} {zx—1}x)=1 (Grosavan) (Lirenan)
x ¢ dom {} x € dom {x +— 2} {x—2}x)=2 (GrosaLvan) —— - € dom ¢y ¢o(-) = PRIM(-) VAR(x), {x— 1}, 00, {}) U (1, {x+— 1}, ¢0,{}) (LITERAL(1), {x — 1}, 00, {}) U (1, {x— 1}, ¢0,{}) 1-1=0 (ArrivSen) x ¢ dom {} x € dom {x +— 0} {x—0}x)=0 (GrosaLyan)
- € dom ¢ ¢o(-) = PRIM(-) VAR(x), {x — 2}, 90, {}) U (2,{x— 2}, ¢0,{}) (LITERAL(1), {x — 2}, 90, {}) U (1, {x— 2}, ¢0,{}) 2—-1=1 (Avpiysus) x ¢ dom {} x € dom {x+ 1} {x—1Hx) =1 (Gropaivan) x ¢ dom {} x € dom {x+> 1} (APPLY (-, VAR(x), LITERAL(1)), {x — 1}, ¢0,{}) 4 (0, {x — 0}, ¢o, {}) (CrosaLAssiay) (VAR(x), {x — 0}, 00, {}) U (0,{x+— 0}, ¢0,{}) ‘ 0=0 T
x ¢ dom {} x € dom {x +— 2} {x—2}(x) =2 (GLoAaLvAR) x ¢ dom {} x € dom {x — 2} (APPLY (-, VAR(x),LITERAL(1)),{x — 2}, ®0,{}) ¥ (1,{x — 1}, ¢0, {}) 4 (GrosaLASsIGN) (VAR(x), {x— 1}, 00, {}) U (1, {x— 1}, ¢0,{}) 1#£0 (SET(x, APPLY (-, VAR(x), LITERAL(1))),{x — 1}, ¢0, {}) | {0, {x — 0}, ¢o, {}) o (WHILE(VAR(x), SET(x, APPLY (-, VAR(x), LITERAL(1)))), {x — 0}, ¢o, {}} ¥ (0, {x — 0}, ¢0,{}) (WiLeTTERATE)
(VAR(x), {x — 2}, 00, {}) U (2,{x— 2}, ¢0,{}) ‘ 2+#0 (SET(x, APPLY (-, VAR(x), LITERAL(1))), {x — 2}, ¢0, {}) | (1, {x — 1}, ¢0, {}) (WHILE(VAR(x), SET(x, APPLY (-, VAR(x), LITERAL(1)))), {x — 1}, ¢0, {}) U (0,{x +— 0}, ¢0,{})

(WHILE(VAR(x), SET(x, APPLY (-, VAR (x), LITERAL(1)))), {x — 2}, ¢, {}) { (0, {x — 0}, ¢0, {})

(WHILEITERATE)



